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BOOKS - MBD MATHS (ODIA ENGLISH)

SETS

Question Bank

1. Construct Collection of all the days of a week in the form of set and

describe it with the help of proposition.

Watch Video Solution

2. Construct Collection of writing instruments in the form of set and

describe it with the help of proposition.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wCnf7OH9KQuh
https://dl.doubtnut.com/l/_WcJXapswV5cR


Watch Video Solution

3. Construct Collection of all kings having more than one queens in the

form of set and describe it with the help of proposition.

Watch Video Solution

4. Construct Collection of all the nationalised political parties in the

form of set and describe it with the help of proposition.

Watch Video Solution

5. Construct Collection of all integers of multiples of 3 in the form of

set and describe it with the help of proposition.

Watch Video Solution

https://dl.doubtnut.com/l/_WcJXapswV5cR
https://dl.doubtnut.com/l/_opbqSKMYwEGs
https://dl.doubtnut.com/l/_IlBHDfTIDsKe
https://dl.doubtnut.com/l/_WR6W2OM1R74K


6. Construct Collection of all fingers of a hand in the form of set and

describe it with the help of proposition.

Watch Video Solution

7. Give an example of a set which has exactly 10 elements and express it

through a defining property.

Watch Video Solution

8. It is possible to express every set through a defining property?

Justify your answer.

Watch Video Solution

9. If , show each and  have the

same truth value.

{x : p1(x)} = {x : p2(x)} x, p1(x) p2(x)

https://dl.doubtnut.com/l/_Ubaz2VwxRW3P
https://dl.doubtnut.com/l/_vdOzrsDmzeZ7
https://dl.doubtnut.com/l/_qVbsBVGR4ZuW
https://dl.doubtnut.com/l/_O1EAu4Q2cBdI


Watch Video Solution

10. Write down the set of letters forming that word Administration?

Watch Video Solution

11. Write down the set of letters forming that word Misrepresentation?

Watch Video Solution

12. Write down the set of letters forming that word Mathematics?

Watch Video Solution

13. Write down the set of letters forming that word Concurrence?

Watch Video Solution

https://dl.doubtnut.com/l/_O1EAu4Q2cBdI
https://dl.doubtnut.com/l/_3leoJIsYXAyV
https://dl.doubtnut.com/l/_nAFd5HQcKDNS
https://dl.doubtnut.com/l/_R7xyzgsTErct
https://dl.doubtnut.com/l/_5Qt74hQhDXEi


14. Write down the set of letters forming that word Demonstration?

Watch Video Solution

15. State with reason, "All big rivers of India" is set or not ?

Watch Video Solution

16. State with reason, "All natural numbers having at least one prime

factor " is set or not ?

Watch Video Solution

17. State with reason,"All sincere students of Ravenshaw college during

the academic year 1998-99 " is set or not ?

Watch Video Solution

https://dl.doubtnut.com/l/_5Qt74hQhDXEi
https://dl.doubtnut.com/l/_YjDaz5jXICsl
https://dl.doubtnut.com/l/_WExoCia4t0UU
https://dl.doubtnut.com/l/_ZEVkWmluXMzl
https://dl.doubtnut.com/l/_sYMmh89LUSS0


18. State with reason, "All real number with negative square " is set or

not ?

Watch Video Solution

19. State with reason, "All citizens of india earning more than

Rs.10,000/- per month " is set or not ?

Watch Video Solution

20. State with reason, " All college teachers who are citizens of India " is

set or not ?

Watch Video Solution

https://dl.doubtnut.com/l/_sYMmh89LUSS0
https://dl.doubtnut.com/l/_vIQlNvdIwZ7F
https://dl.doubtnut.com/l/_zJLfLT4HD0dI
https://dl.doubtnut.com/l/_EELrLuBUc41A


21. State with reason, "All finite subsets of the set Z of integers " is set

or not ?

Watch Video Solution

22. State with reason, "Collection of all possible sets " is set or not ?

Watch Video Solution

23. State with reason, "Collection of all winged horses " is set or not ?

Watch Video Solution

24. State with reason,"Collection of all residents of Odisha who will live

for more than 100 years " is set or not ?

Watch Video Solution

https://dl.doubtnut.com/l/_sxJILN8vGQAB
https://dl.doubtnut.com/l/_9d9PgI2oz7og
https://dl.doubtnut.com/l/_TW7h1PJfX1pk
https://dl.doubtnut.com/l/_zLEvGYrVlNA6


25. Write{x:x is a prime number and  } set in the form of

lists?

Watch Video Solution

1 ≤ x ≤ 100

26. Write{x:x =is an odd integer} set in the form of lists?

Watch Video Solution

27. Write{x:x =1 or x=2 or x=3} set in the form of lists?

Watch Video Solution

28. Write{x:x =can be written as a sum of two odd integers } set in the

form of lists?

Watch Video Solution

https://dl.doubtnut.com/l/_izTIy54bv9jV
https://dl.doubtnut.com/l/_jnFMo9BMXAUw
https://dl.doubtnut.com/l/_zeqOETNEpeZv
https://dl.doubtnut.com/l/_nQr2LFSrJTkx


29. Write"Set of all natural numbers that are divisible by 5 " set in the

form of lists?

Watch Video Solution

30. Write set in the intention(or specification form).

Watch Video Solution

{a}

31. Write  set in the intention(or specification form).

Watch Video Solution

ϕ

32. Write  set in the intention(or specification form).

Watch Video Solution

{1, 2}

https://dl.doubtnut.com/l/_RmIOSFk7nkq6
https://dl.doubtnut.com/l/_tTlsMfc9n6Ni
https://dl.doubtnut.com/l/_3TWs4i3B9EfO
https://dl.doubtnut.com/l/_B9uQvOAGzoo2
https://dl.doubtnut.com/l/_gLzqrxcEhVGz


33. Write set in the intention(or specification form).

Watch Video Solution

{1, 2, 3, 4, 5}

34. Write set in the intention(or specification form).

Watch Video Solution

P (ϕ)

35. Write set in the intention(or specification form).

Watch Video Solution

{1, 3, 9, 27)

36. Determine if the set A={1,2,3…..}is a proper subset of the set B={x:x is

a rational number}

Watch Video Solution

https://dl.doubtnut.com/l/_gLzqrxcEhVGz
https://dl.doubtnut.com/l/_9tDOQstZC3B7
https://dl.doubtnut.com/l/_wVc716iyEPG5
https://dl.doubtnut.com/l/_K4RbrlIKzFoO


37. Determine if the set is a proper subset of the

set 

Watch Video Solution

A = x : xisa' νmber}

B = {2n − 1: n = 1, 2, 3…. . }

38. Determine if the set A ={-1,1,3}is a proper subset of the set B=

and

Watch Video Solution

{x : x ∈ R x3 − 2x2 − x + 2 = 0}

39. Determine if the set is a proper subset of the set B=

{ , n is a divisor of 60}

Watch Video Solution

A = {1, 2, 3, 4}

n ∈ N

40. Determine if  where 

Watch Video Solution

A ⊂ B or A ⊂ B A = ϕ, B = {ϕ}

https://dl.doubtnut.com/l/_BnKy5mD4x0SD
https://dl.doubtnut.com/l/_DzeBNBOaFq98
https://dl.doubtnut.com/l/_h9zUbe4A25Ip
https://dl.doubtnut.com/l/_dRaWhhUtXdAv


Watch Video Solution

41. Determine if  where 

Watch Video Solution

A ⊂ B or A ⊂ B

A = {x : xis an integer }, B = {3x : xis an integer}

42. Determine if  where 

Watch Video Solution

A ⊂ B or A ⊂ B

A = {x : xis an odd integer}, B = {x : xis real and not an even integer }

43. Determine if  where A={x :x is an integer which

is both even and odd"},B ={x:x is an integer, x ≠ x}`

Watch Video Solution

A ⊂ B or A ⊂ B

https://dl.doubtnut.com/l/_dRaWhhUtXdAv
https://dl.doubtnut.com/l/_eXqsMmP8izn0
https://dl.doubtnut.com/l/_S5TEVL6Msowp
https://dl.doubtnut.com/l/_oisLArweLZsa


44. Determine if  where 

Watch Video Solution

A ⊂ B or A ⊂ B

A = |a, b, c|, B = {|a|, |b|, |c|}

45. Determine the truth of falsity of the  propositions

with reasons.

Watch Video Solution

{1, 2} ∈ {1, 2, 3}

46. Determine the truth of falsity of the  for any set A

propositions with reasons.

Watch Video Solution

A ⊂ A

47. Determine the truth of falsity of the"Every set has a proper subset"

propositions with reasons.

https://dl.doubtnut.com/l/_rDsjhx9DBzMv
https://dl.doubtnut.com/l/_z9peteZ85NiS
https://dl.doubtnut.com/l/_nHCFc8H9cl8W
https://dl.doubtnut.com/l/_ls5oSzWsBVKV


Watch Video Solution

48. Determine the truth of falsity of the Every set is a proper subset of

same set propositions with reasons.

Watch Video Solution

49. Determine the truth of falsity of the For any object x, there is a set

A such that , propositions with reasons.

Watch Video Solution

x ∈ A

50. Determine the truth of falsity of the For any object x, there is a set

a such that,  propositions with reasons.

Watch Video Solution

x ∈ A

https://dl.doubtnut.com/l/_ls5oSzWsBVKV
https://dl.doubtnut.com/l/_JQma64rMGzCN
https://dl.doubtnut.com/l/_vH2IgwLNtam3
https://dl.doubtnut.com/l/_vEqjyIW6IEzU
https://dl.doubtnut.com/l/_JennonkWdguT


51. Determine the truth of falsity of the If A,B,C are sets, then either

 propositions with reasons.

Watch Video Solution

A = B or A ⊂ B or B ⊂ A

52. Determine the truth of falsity of the  propositions with

reasons.

Watch Video Solution

a ∈ {(a)}

53. Determine the truth of falsity of the 

propositions with reasons.

Watch Video Solution

a ∈ {{a, b), b}, a ≠ b

54. Determine the truth of falsity of the If A is a proper subset of B and

B is a subset of C Then A is a proper subset of C propositions with

https://dl.doubtnut.com/l/_JennonkWdguT
https://dl.doubtnut.com/l/_7xh1KbfzuEsD
https://dl.doubtnut.com/l/_cPPi50F7jCA2
https://dl.doubtnut.com/l/_yTaJoqrYku09


reasons.

Watch Video Solution

55. Determine the truth of falsity of the

propositions with reasons.

Watch Video Solution

A ⊂ ϕif and only if A = ϕ

56. Write down the power set of 

Watch Video Solution

{a, b, c}

57. Write down the power set of

Watch Video Solution

{a, {a}}

https://dl.doubtnut.com/l/_yTaJoqrYku09
https://dl.doubtnut.com/l/_OKxbMkTZ9tZX
https://dl.doubtnut.com/l/_vi6Uo2hi1Nax
https://dl.doubtnut.com/l/_9XPKxosnl1sP


58. Write down the power set of

Watch Video Solution

ϕ

59. Write down the power set of

Watch Video Solution

{ϕ}

60. Write down the power set of

Watch Video Solution

{a, {a}, {a, b}}

61. Write down the power set of

Watch Video Solution

{{ϕ}}

https://dl.doubtnut.com/l/_Cn6ncXmmIVTM
https://dl.doubtnut.com/l/_GWgHvmEgLjJO
https://dl.doubtnut.com/l/_BzdqjF8s2gnM
https://dl.doubtnut.com/l/_vEIxLErChO0y


62. The set N of positive natural number set is finite set or infinite set ?

Watch Video Solution

63. Which sets are finite and which are infinite The set Z of integers

Watch Video Solution

64. Which of the following set are finite and which are infinite ?
The set

Q or rational number.

Watch Video Solution

65. Which of the following set are finite and which are infinite ?The set

R of real number.

Watch Video Solution

https://dl.doubtnut.com/l/_QTEjtJIkTPCZ
https://dl.doubtnut.com/l/_kdiuuVUHxwwz
https://dl.doubtnut.com/l/_ZURalB635CHW
https://dl.doubtnut.com/l/_onSbExDnKf10


66. Which of the following set are finite and which are infinite ?The set

of prime number .

Watch Video Solution

67. Which of the following set are finite and which are infinite ? The set

of even integers.

Watch Video Solution

68. Which of the following set are finite and which are infinite ? The set

of human beings

Watch Video Solution

69. Which of the following set are finite and which are infinite ?The set

of integers less than 10.

https://dl.doubtnut.com/l/_sZREHAM4mBmx
https://dl.doubtnut.com/l/_IMsZHkp22DXS
https://dl.doubtnut.com/l/_RSANILbCpUiB
https://dl.doubtnut.com/l/_ofjDkcZltBKs


Watch Video Solution

70. Verify that 

Watch Video Solution

|P (ϕ)| = 2∘

71. Verify that

Watch Video Solution

|P ({a})| = 21

72. Verify that

Watch Video Solution

|P ({a, b})| = 22

73. Verify that 

Watch Video Solution

|P ({a, b, c})| = 23

https://dl.doubtnut.com/l/_ofjDkcZltBKs
https://dl.doubtnut.com/l/_hby8XdarkSIk
https://dl.doubtnut.com/l/_9SG3WJrk7a8p
https://dl.doubtnut.com/l/_0ul4QIfut9CD
https://dl.doubtnut.com/l/_7fuWBl42BF4O


74. Find the number of element of 

Watch Video Solution

P (P (ϕ))

75. Find the number of element of 

Watch Video Solution

P (P (P (ϕ)))

76. Find the number of element of 

Watch Video Solution

P (P (P (P (ϕ))))

77. Prove by the method of induction that if A has n number of

elements,then .

Watch Video Solution

|P (A)| = 2n

https://dl.doubtnut.com/l/_7fuWBl42BF4O
https://dl.doubtnut.com/l/_wjQApPvt8cHb
https://dl.doubtnut.com/l/_AMecG4jXvrYM
https://dl.doubtnut.com/l/_LIqgKe81pjeX
https://dl.doubtnut.com/l/_6ftNAeSY4PnN


78. Can you say how many elements P(P(A)) If A has n elements?

Watch Video Solution

79. An examination was conducted in physics, chemistry and

mathematics. If P.C.M. denote respectively the sets of students who

passed in Physics, in Chemistry and in Mathematics, express the set of

candidates who passed in Mathematics and Chemistry , but not in

physics using union , intersection and different symbols.

Watch Video Solution

80. An examination was conducted in physics, chemistry and

mathematics. If P.C.M. denote respectively the sets of students who

passed in Physics, in Chemistry and in Mathematics, express the set of

candidates who passed in all the three subjects using union ,

intersection and different symbols.

https://dl.doubtnut.com/l/_J2R36Dpg1P30
https://dl.doubtnut.com/l/_KFRyNelLPEAg
https://dl.doubtnut.com/l/_ptvnCJO8pJwO


Watch Video Solution

81. An examination was conducted in physics, chemistry and

mathematics. If P.C.M. denote respectively the sets of students who

passed in Physics, in Chemistry and in Mathematics, express the set of

candidates who passed in Mathematics only using union , intersection

and different symbols.

Watch Video Solution

82. An examination was conducted in physics, chemistry and

mathematics. If P.C.M. denote respectively the sets of students who

passed in Physics, in Chemistry and in Mathematics, express the set of

candidates who failed in Mathematics but passed in at least one

subject using union , intersection and different symbols.

Watch Video Solution

https://dl.doubtnut.com/l/_ptvnCJO8pJwO
https://dl.doubtnut.com/l/_ki99JQhsBHdz
https://dl.doubtnut.com/l/_gQCFteYOLufw
https://dl.doubtnut.com/l/_gsCVlVIBsDV8


83. An examination was conducted in physics, chemistry and

mathematics. If P.C.M. denote respectively the sets of students who

passed in Physics, in Chemistry and in Mathematics, express the set of

candidates who passed in at least two subjects using union ,

intersection and different symbols.

Watch Video Solution

84. An examination was conducted in physics, chemistry and

mathematics. If P.C.M. denote respectively the sets of students who

passed in Physics, in Chemistry and in Mathematics, express the set of

candidates who failed in one subject only using union , intersection

and different symbols.

Watch Video Solution

85. What can you say about the set, A,B,ifA ∪ B = ϕ

https://dl.doubtnut.com/l/_gsCVlVIBsDV8
https://dl.doubtnut.com/l/_FDZJwPNXNgvk
https://dl.doubtnut.com/l/_Ya4qHHgF2Fk6


Watch Video Solution

86. What can you say about the set, A,B,if

Watch Video Solution

AΔB = ϕ

87. What can you say about the set, A,B,if 

Watch Video Solution

A\B = ϕ

88. What can you say about the set, A,B,if 

Watch Video Solution

A\B = A

89. What can you say about the set, A,B,if .(where U is the

universal set)

Watch Video Solution

A ∩ B = U

https://dl.doubtnut.com/l/_Ya4qHHgF2Fk6
https://dl.doubtnut.com/l/_kuL2S1Ch7KoT
https://dl.doubtnut.com/l/_CmQpvmRY3J2T
https://dl.doubtnut.com/l/_GLROjVCAXXP4
https://dl.doubtnut.com/l/_73RgshkTIwCt


90. What can you say about the set, A,B,if `A\B=U.(where U is the

universal set)

Watch Video Solution

91. Are difference and symmetric difference commutative ? Give reason.

Watch Video Solution

92. If B sub C, prove that `A\\B =A\\C.Is this result true when difference is

replaced by symmetric difference ? Give reason.

Watch Video Solution

93. Prove that 

h id l i

(A\B)\C = (A\C)\B = A\(B ∪ C)

https://dl.doubtnut.com/l/_73RgshkTIwCt
https://dl.doubtnut.com/l/_VJhDEyn5RCoe
https://dl.doubtnut.com/l/_j8LZURGMvcXi
https://dl.doubtnut.com/l/_G6IkoWK69ZDC
https://dl.doubtnut.com/l/_ARFzXn7dEXND


Watch Video Solution

94. Prove that 

Watch Video Solution

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

95. Prove the

Watch Video Solution

AΔ(BΔC) = (AΔB)ΔC

96. Prove the `A sub B

Watch Video Solution

97. Prove the "and "

Watch Video Solution

A ∪ B = U A ∩ B = ϕ ⇒ B = A'

https://dl.doubtnut.com/l/_ARFzXn7dEXND
https://dl.doubtnut.com/l/_T4C0k99YqD4t
https://dl.doubtnut.com/l/_C2HtS0kooMMv
https://dl.doubtnut.com/l/_r0A7nW3PNZzV
https://dl.doubtnut.com/l/_b3cZzXPp09da


98. Prove the  for all 

Watch Video Solution

A ∪ B = A A ⇒ B = ϕ

99. Prove the  results of the sections 1.13 and 1.14 that

are stated with our proof.

Watch Video Solution

A ∪ B = B ∪ A

100. Prove the  results of the sections 1.13 and 1.14 that

are stated with our proof.

Watch Video Solution

A ∩ B = B ∩ A

101. Prove that 

Watch Video Solution

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

https://dl.doubtnut.com/l/_XMJxFk1IG8hT
https://dl.doubtnut.com/l/_D1WksGZ2cTGS
https://dl.doubtnut.com/l/_kUZ9iNfKdbIt
https://dl.doubtnut.com/l/_orDN7kQe1QO6


102. Prove that 

Watch Video Solution

A −
n

⋃
i = 1

Bi =
n

⋂
i = 1

(A − Bi)

103. Prove that 


Watch Video Solution

|A ∪ B ∪ C|

= |A| + |B| + |C| + A ∩ B ∩ C| − |A ∩ B| − |B ∩ C| − |C ∩ A∣

104. If X and Y are two sets such that  has 20 objects, X has 10

objects and Y has 15 objects; how many objects does have ?

Watch Video Solution

X ∪ Y

X ∩ Y

105. In a group of 450 people, 300 can speak Hindi and 250 can speak

English. How many people can speak both Hindi and English ?

h id l i

https://dl.doubtnut.com/l/_wmi9d3mGQBn9
https://dl.doubtnut.com/l/_YdyK4AbpdBwE
https://dl.doubtnut.com/l/_n36hLtAm6GuH
https://dl.doubtnut.com/l/_5110GmDjw5gA


Watch Video Solution

106. In a group of people, 37 like coffee, 52 like tea and each person in

the group likes at least one of the two drinks. 19 people like both tea

and coffee, how many people are in the group?

Watch Video Solution

107. In a class of 35 students, each student likes to play either cricket or

hockey . 24 students like to play cricket and 5 students like to play both

the games, how many students play hockey ?

Watch Video Solution

108. In a class of 400 Students, 100 were listed as taking apple juice,

150 as taking orange juice and 75 were listed as taking both apple as

https://dl.doubtnut.com/l/_5110GmDjw5gA
https://dl.doubtnut.com/l/_YaiXykPNJJxb
https://dl.doubtnut.com/l/_r7fK9h1oE1xU
https://dl.doubtnut.com/l/_rJ4oct5btALc


well as orange juice. Find how many students were taking neither

apple juice or orange juice?

Watch Video Solution

109. In a group of 65 people, 40 like cricket, 10 like both cricket and

tennis. How many like tennis only and not cricket? How many like

tennis ?

Watch Video Solution

110. In a survey it was found that 21 people liked product A, 26 liked

product B and 29 liked product C. If 14 people liked products C and A.

14 people liked products B and C And 8 liked all the three products, find

how many liked products C only.

Watch Video Solution

https://dl.doubtnut.com/l/_rJ4oct5btALc
https://dl.doubtnut.com/l/_hDmri7MqRu18
https://dl.doubtnut.com/l/_aGFRBzrcoP44

